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Answer Q.No. 1 and any tﬁrée from the rest

The figures in the right hand margin indicate marks

1. (a) ’Wf_itédown the differences between digit
interleaving and word interleaving.

(b) Discuss the functions of compandor in
PCM communication,
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(C)

(e)

2 (a)
(b)
3l (a)

(2)

Explain, why pre-emphasis and de-emphasis

is needed in FM communication system ?

DlSCllSS the functions of RF amplifier in
super Heterodyne AM receiver.

Prove that

E2 s j2nf G,

where G(f) is the Fourier transform
of g (1). o 2x5

If 'x' input is applied to asystem 'k’
showing output 'y', then determine the
transfer function H (f) of the system for
distortionless condition.

If g (1) & G (), then show that

I, G(/) -—G(0)8(f) 5+5

j2nf
With proper circuit dlagram discuss how
DSB-SC AM waves are generated using
ring-modulator.
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(3)

(b) Discuss the phase-shift method with proper
blockdiagram to generate SSB-SC AM
© wave.
(o ‘V:Prove that . |
H,
(- CACES AR AT AR

‘ when |f | < B WhereH (f) is the transfer
function for lowpass filter at the receiver
of the VSB signal and H (f) is that for the
band pass filter at the transmitting and of
theVSB signal DR 443+ 3

4 ( a) Discuss with proper circuit dlagram the
- method of NBFM generation,

(b) An _angle modulated s1gnal w1th carrier
frequency - o, = 2% x 10 Rad/sec is
. descrlbed by the equatlon -

¢EM(t) =10 cos { ®_ t+ 5 sin 3000¢ :
+ 10 sin 2000ms}

Find frequency deviation A f and devia;tion
ratio p. ’ :
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(4)

~(¢) What do you mean by’ ménophonlc FM
receiver ? | 4+4+2

5. -(a) Show that FM wave is more immune to
noise generated from system non-linearity
compared to AM waves.

(b) | State and prove the samplmg theorem.

(¢) Write down the mterpolatlon formula for
re-construction of message signal g(¢).
4+4+2
6. ( a) Calculate the capacity of astandard 4 kHz
telephone channel with 32 dB, SNR.

(b) Discuss briefly how PAM wave can be
generated using an AND gate

(¢) How can you generate PPM s1gnal from
PWM signal ?

(d) Discuss the modulation and demodulation
techniques of delta-modulation. 2 +2 + 3 + 3
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